[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.

eHICIgNCYYS ¥

003

0.954

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficiend —— pom_ckF_TTtest125x

~ 0.021

0
0
0
0

Ratio

EHHCIRRCY S 8T

NEW

018
016
014
012

0.01E
.008
.006
.004]
.002

L 0OF

..................

.........

........

[y

0.95!

[ Efficiency vs. sim PV z |

~ 0.02
>
50.018
5016
9.014
>
9.012
Q

=
£
3]

0.008F

0.006
0.004
0.002

Ratio

10 20 30
TP vert z (cm)

10 HSRRRS SRR R

.......

.......

.......

1.0

o
|4k et

i
T

o
a R -
o
o1

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


